CamocTinnHa poboTa 3 anrebpun Ta novaTkiB aHanisy, 10 kKnac
«P0o3B’'A3yBaHHA HANMPOCTILLNX TPUTOHOMETPUYHUX PIBHAHb»

BapiaHT |

Po3B’A3aTn PIBHAHHA:
1) cosx = *2@; 2) sinx = - *25; 3) cosédx
_ 2.
= =

: _ 1. _ 1. X — _
4) sin2x = 5 5) cos3x = 5 6) sin 5=
V2,
7'
7) cos§= 1; 8) 2cos3x = - 4; 9) sin(x+%)
= 0;
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10) sin(-6x) = = ; 11) cos( 4)_ L

12) 2cos(§+§) - J3 = 0.
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4) 2sin3x = 0; 5) cos = -1; 6) sin[—§)= -
1,
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) cos(-8x) = —*f; 8) sin(-6x) = %; 9) cos

10) 2sin6x = 8; 11) cos(zx—§)= -2

12) 2sin(3x+§)+ﬁ= 0.
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